Mastery Algebra 1

Final Review #2
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Write the equation of the line above, in slope intercept
form.
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10. Write the equation of the line, in slope intercept form,
that is parallel to y=3x+2 and passes through (-2,8)

11. Write the equation of the line, in slope intercept form,
that is perpendicular to y=3x+2 and passes through (-6,-20)

12. Solve by graphing and CHECK!

..... ] __ll'I | !_:_g | _"_;r__:_' |

y=2x-3 - Iml_J SEEEEEEEES
I I 0

y=x-1 - T il ]
_..[_ E: ..I}_ .l

| : I

i 1

/’—--___,. 1 N i
ey
11

REEE

13. Solve by substitution or elimination

2x+5y=-22
10x+3y=22

14. Graph 3x-y<2




